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Exercise 7.1
Question 1:
sin 2x
Answer
The anti derivative of sin 2x is a function of x whose derivative is sin 2x.It is known that,

i{cus 2x)=-2sin2x
dx

= 5in2x = —li{cnﬁ 2x)
dx

§ A
S.8in2x = i[—%mﬁ EXJ

X

. . 1
sin2x 18 ——cos2x
Therefore, the anti derivative of

Question 2:

Cos 3x

Answer

The anti derivative of cos 3x is a function of x whose derivative is cos 3x.

It is known that,

iI::s;in 3.r}= 3cos3x

dx

= Cc0s3x = 1ij {sin_?x]
3 dx
1i1

S cos3x =(—[—sin 3::']
e\ 3 J

cos3x 15 —sin 3x
Therefore, the anti derivative of

er

Answer
The anti derivative of e**is the function of x whose derivative is .

It is known that,
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d i oa.
o X = 1 ks
dx(e } 2e
- 1 d; -
e ——(e *)
2 dx
e d [ (.
{? — _L?‘
dvl 2
2r 1 ix
e’ is —e
Therefore, the anti derivative of 2

Question 4:
{ax+b}1

Answer

A

(ax+b) (ax+b)

The anti derivative of is the function of x whose derivative is .

It is known that,

%[ax+b]3 =3a(ax+ h}l

) 1 1
=lax+h) =——(ax+b
{ } 3a a',r{ )
a df1 .3
Slax+bh) =—| —(ax+h
( } cir[Ec:{ ) }
» 1 3
ax+h) is —{a_t+b]
Therefore, the anti derivative of 2d

Question 5
sin2x —4de™”
Answer

sin 2x —de’*
The anti derivative of f )

[Sin?.r—éh.*“J

is the function of x whose derivative is

It is known that,
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i[—l COs Z:c—ic?” ) =sin2x—4e™
dx 3

] 4 .
- ¥ —— 2x——e"
sin2x—4e ( cos ]
Therefore, the anti derivative of ( )is 2 3 .

Question 6:

J‘[Lhzz'1 "] )dx

Answer

J‘[4<33 "+ 1

=4 Ie3 “dv + Jldr

=4[€M ]+x+C
3

4 4,
=—e" +x+C

Questior

J‘xl[l—%]dr

Answer

Ix: [] = Il:, ]a’r
= [(x*-1)ax

_ j.rzr:fx - Jla’.t

=X TNre
3

ﬂmﬂ +hy+ c-}ufr

Answer



www.toppersguru.com

Www.toppersguru.com

J‘(axz +hx+ c]cir

=ajx3dr+bjxdx+c_[l.dr

3 2
=a(x—]+b[x—J+cx+C
3 2

ax’ by’
:T+—+cx+t

Question 9:
I[ 23 4+ e )dx
Answer

I[ 2x" +e ) dx

=2 Ix:dx + Ie”dr

:2[£]+e" +C
3

=Ex"+€* +C
3

i
,:=-\
- |—
‘-::/

I,m’,r + J:dr -2 Il Jlx

,'l."1
=—+loglx|-2x+C
> logl
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Question 11:

Ixj + 5.;(: - 45}5{

x
Answer

jﬂxj +5x° - 4.9',1'

)

X
= J(x+5—4x':)dx
= J'mtx+5j| m-—4jx'fdx

2 -1
2 1

=x—+5x+i+C
X

Question 12:

J-r +3r+4

Answer

J-:r' +3rf+ 4 e

WX
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Question 13:
ij —x4+x-1
e 11
x—1
Answer
Ixj —xt+x-1
———lY
x—1
On dividing, we obtain
= J(x: +l)dx
= ngdfr+ jld.\:

:£+x+(1
3

Question 14:
I[I —x}xﬂdx

Answer

I[I —x}ﬂdr
3%
= ﬁw‘?—x: Hr

h /

= J-x':-‘n’x - Jx;dx

3 5
X
=—-—+C
W
2 2
:Ex“—%x +C
3

j'w'";{lr? +2x+ 3}.::“.\'

Answer
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j‘«r";(Jx: +2x+3)dx

5 i 1
= J{Erz +2x? +3x°? ]Jx

:3j'x§dx+zj’x§dx+3j'x~idx

x? xt
= .
3 7 +2 3 +3 3 +C
2 2 2
7 3 3

Question 16:

I[Zx— 3cnsx+e']dx
Answer

I(Ex— Jcosxy+e’ )u‘.r

=2 Ixr.’.r -3 J-CGS xelx + J.e" elx

-2
==X ~3(sinx)+e"+C

=x =3sinx+¢e" +C

Question 17:
j[zxf ~3sinx+ S-JI)JI
Answer

ﬂlr: —3sinx+ SJ;)JI



www.toppersguru.com

Www.toppersguru.com

|
=2 |x'de -3 5inxdx+5jxldx
2x° x? .
=———3(-cosx)+5 3 +C
2
2 3
:—x5+3cusx+?x3 +C

Question 18:

Ise-: x(secx+tan x ) dx
Answer

Isec x(secx+tan x ) dx

= j( sec” x+secx tan x ) dx

= jsecz xdx + Jse-.: xtan xdx

=tanx+secx+C

Ques
sec”
oc? x

I ——dlx
COSEC X

Answer

dx

_[ sec” x
cosec’x
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1

2
_ jmsl. X
sin” x
s 1
sin” x
= j 2
Cos” x

= Jtan] xely
= J(secz x —l].-it'
= jsa::3 xdy — Jla’x

=tanx—-x+C

Question 20:
2—3sin
j- '-*:m xdr
cos” X
Answer
2 —3sin;
I sin xa’r

#
cos™ X

2 3sinx
= || ——~— — |
cos™ X Cos X

= IE sec” xdx -3 j-lan xsec xdx

=2tanx—3secx+C

Question 21:
= 10

Vx+ vl,—
The anti derivative of “ ¥/ equals

I X +2x*+C x! + : v +C
(A) 3 () 3
2 i 1 3 1
x?+2x2+C +—=x*+C

(c) 3 (D) 2

Answer
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o

= jxlzcir + J-_r_l-aﬁf

1
x*  x?
_T+T+C

2 2
3 i

==x24+2x2+C

Hence, the correct Answer is C.

Question 22:
L r(x)=ax' -
If dx X" such that f(2) = 0, then f(x) is
ped129
(A) x’ 8 (B) ¥ 8
oy 1 129 o 1 129
(C) X ] (D) ¥ 8
Answer
It is given that,
d ., 3
— flx)=4x ——
dx j{ } x!
3 :
axr==r=f(x)

~Anti derivative of &
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ey = [ayt S
S f(x)= j4x = dx

f(x)=4[xds=3[(x"

_,r"{x}:ﬁl{": ]—3[: J+c

Also,
f(2)=0
|
f(2)=(2) +——+C=0
(2)=(2) @
=16+-+C=0
8
|
::.-C:—[IL‘H W
A
C=—I29
b
F(x) =" 11 129
X 8

lence, the cc Answer is A
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